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Solve 2xydx + (1 + x*)dy = 0 (10%).

2 , ; '

Solve & =X *2 (10%). S :
dx y v :

So_lVe y—" -y'-2y= 4x? (20%).

Solve y"-8y' +16y =0 (10%).-

Given c;ix(sin X) = cosx and a(,i;(cos x) = —sinx, derive the formulas
0) %(tanx) = sec? ’_‘ (10%);

(10%).

. d . . |
11 —(sin” x) =
G- —
Determine the locus represented by (10%).
(@) |z—2| =3, (b) |z—2| =|z + 4|, where z=x + iy is" a complex variable. Note

“that the solution must 1nc1ude the locus parameters .
- Solve the equations a) X’ —5x+6= 0, b) 2x% - 3x + 1=0 (10%)

Let X be a n-dimensional vector. Some of its norms are defined as follows

%], =¢

l X,|)
F 1nd the followmg norms of vector X =[1 2 3]
a. X[, b x|, e [X], d. [x], (10%).
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